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 � b ��� a � �
�������� �� 1BCAΔ ��� 1ACBΔ �

	���
��
� ����     2 �#���
���. �� 1 100BCA = °� ��� 1 100ACB = °�    1 �#���

���. �� 180 100 80ACB = ° − ° = °�    1 �#���
���������� �� 2ABC x=� � 3BAC x=�   1 �#���
���
������ �� � �� � 
�� �� ����
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��������	 �� ABCΔ : 

2 3 80 180x x+ + ° = ° � �������� �� 20x = °   1 �#���
�������� �� 2.20 40ABC = ° = °� � 3.20 60BAC = ° = °�      1 �#���
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II �����: 

V�=50	�/� (1 �#���); t�=3�. (1 �#���); t�=1�.12 ���. (1 �#���); 

3�.-1�.12 �.= 1�. 48�. (2 �#���); 

S = 36 	�. (��
� �� ���
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